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1. Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate aong with Question Paper
Booklet. Please read and follow the ingtructions on the OMR Answer Sheet for marking the correct response.
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2. The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly
printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure
that the booklet code printed on OMR Answer Sheet is same as the Question Paper Booklet
code supplied to you.
©558 80068 2arendBo R $LrowoNd HRFS® FEETE Howb Hdan W VO @ol ol B
©Q DOEFEIBL. ©0 SIK aY)S Lol aTw HFo NE ZWGoDS wWEBEY FE, ad)d @THEo
QD& INPoNS WETE FE 288 wonI& B& LoXFrHTISBL.

3. This booklet contains 200 Questions and candidates shall answer al these in 180 minutes.

& HTPIB0 enFBES” 200 B G0 $o8ukd wigthen DLR0BE 180 AW VS’ aTrwed FOoUSTL.

4. One mark will be awarded for every correct answer. There are no negative marks.

05 98 2w wf 18 SraowEo adfdiod. JEnSod Hrd)E ey e BY.

5. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check

for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions
(1-200), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the
commencement of the test.
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6. Answersto the questionsmust be entered only on OMR Answer Sheet by completely shading the appropriate
circle with Ball Point Pen (Blue or Black) only.
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7. The OMR Answer Sheet will beinvalidated if the circleis shaded using Pencil or if morethan onecircleis
shaded against each question even with a small dot.
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8. Change of answer is NOT Allowed.
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> The Candidates must ful ly satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of (1), (2), (3) or (4) inthe OMR Answer Sheet with Blue/Black Ball Point Pen, as
it is not possible to change or erase once darkened.
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» Useof Eraser or White Fluid on the OMR Answer Sheet is not permitted as the OMR Answer Sheet
is machine gradable and it may lead to wrong evaluation.
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9. The OMR Answer Sheet will not be valued if the candidate:
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(@) Writesthe Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose,
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(b) Writesany irrelevant matter including religious symbols, words, prayers or any communicati on what
so ever in any part of the OMR Answer Shest,
£,00e58 2720 DGO HSDER0S DY, DEre, KK, PESen S0 B8 ©D0W0EHS dirardo
TRSBED, ‘
(c) Adopt"(3 S any other malpractice.
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10. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall.
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11. Rough work should be done only in the space provided in the Question Paper Booklet.
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12. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination.
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13. Ensure that the Invigilator puts his’/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
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14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided inthe Nominal Rolls.
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15. Returnthe OMR Answer Sheet totheinvigilator beforeleaving the Examination Hall. Failureto returnthe OMR
Answer Sheetisliablefor crimina action and the result will be kept withheld. The Question Paper Booklet shall
be taken away by the candidate and should be preserved till the declaration of results.
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NOTE: If any ambiguity arises in translations in any question, then the text/matter stated in English

version shall be treated as final, since the Question Paper Booklet is printed in two languages
viz. English/ Telugu or Engllsh/Urdu
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& BT BG0 wESE 5% DA 0w 85 38, DS 5O 48 Hdwn §O8 &5 6.

LT 2.C




P-1 Booklet Code | C

Time: 3Hours Marks: 200
Instructions :
(i) Onemark will be awarded for every correct answer. Thereareno negative marks.
KOS (B8 marando wf $rdy eronowio 2HS08. JEHod Herd)E Srin e BY.
(i) Choose the correct or most appropriate answer from the given options to the following
guestions and darken, with Blue/Black Ball Point Pen the corresponding digit (1), (2), (3)
or (4) inthecircle pertaining to the question number concerned inthe OMR Answer Sheet,
separately provided to you.
BHS aYS BS HH ASES TES® HBFDI JEFETEENG YT I JSrDoB
©08 (1), (2), (3) Bz (4) 3om aYPS OMR 35rers JHGS0S® HHK H00H0NS
dopghio $)aQ) dvo BT Send) S FonolS DY) GHRrHoD JoDIBH.

1. Rearrangethegiven phrasesinto ameaningful sentence.
reading booksisahabit / but also enlargesthemind / because it not only increases

1 ) 3
knowledge / which must be cultivated by everybody

(4)
The correct order is
) 1,2 3 4 2 1,4 83 2 3 4,1 3 2 4 1,2 4, 3

2. Choose the correct order of the following jumbled sentence from the options.
expresses acommand / an imperative sentence / asentencethat / or an entreaty /
(D ) 3 (4)
iscalled
(5)
The correct order is
(1) 3,541,2 (2 31,452 (3 532114 4 41325

3. Choosethe correct form of the verb from the options and fill in the blank.

If we enough money, we could buy avillain aposh locality.
(1) havebeen (2) hes
(3) had (4) were

4.  Choose the option with correct punctuation.
The squirrels nuts were hidden in several hollow trees throughout the forest.
(1) Thesqguirrelsnutswere hiddenin several hollow trees’ throughout the forest.
(2) Thesquirrels nutswere hidden in severa hollow tree’'s throughout the forest.
(3) Thesquirrels nutswere hidden in several hollow treesthroughout the forest.
(4) Thesqguirrelsnut’swere hidden in several hollow treesthroughout the forest.
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5. ldentify the clause in the given sentence.
The hand that rocksthe cradle rulestheworld.
(1) Nounclause (2) Adjectiveclause
(3) Prepositiona clause (4) Adverbid clause

6.  Fill intheblank with the appropriate option.
learning is adangerous thing.
(1) Aless (2) Little (3) Alittle (4) Thelittle

7.  Choose the correct form of Indirect Speech of the sentence.
Hesays, “| goto gym every morning.”
(1) Hesaidthat hegoesto gym every morning.
(2) Hesaysthat hegoesto gym every morning.
(3) Hesaidthat he usedto go to gym every morning.
(4) Hesaysthat hewent to gym every morning.

8.  Choose the correct form of Indirect Speech of the following sentence.
Rajeshsaid, “I bought acar yesterday.”
(1) Raeshsadthat | havebought acar yesterday.
(2) Rajeshsaidthat hedidbought acar the previousday.
(3) Raeshtoldthat he had bought acar yesterday.
(4) Rajeshsaidthat hehad bought acar the previousday.

9. Choosetheappropriate phrasal verb.

The books on Shakespeare 10 shelves.
(1) takeup (2) takeover
(3) turnup (4) turnover

Read the following passage and answer the questionsthat follow (Q. No. 10to 14) :

While riding his bicycle between two and three O’ clock yesterday morning along the
unfrequented locality of the Pimlico Road, ayoung of foreign extraction named Joseph percelved
the body of an individual stretched apparently motionless in the gutter. He alighted from his
machine and discovered that the victim of the occurrence had been assaulted by some criminals,
who, after relieving him of his watch and all available cash, had made off undetected. The
unfortunate victim, who appears to be well-connected, has not yet been identified. He lies at
present at the Three StarsHotel inacritical condition, whither hiscompassionate rescuer escorted
him in acab. Hopes are entertained of his ultimate recovery. The police are on the aert.

10. ‘unfrequentedlocality’ means
(1) people often go there (2) not often visited by people
(3) frequent transport isnot available (4) prohibited area

A ac
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11. Josephis , according to the author.
(1) anativeof that place (2) aforeigner
(3) anoldman (4) thevictim
12. Wheredidthe bicyclerider find the victim?
(1) at Three StarsHotel (2) inthefield
(3) inhospital (4) inthedrain
13. What isthe meaning of the expression ‘ well-connected’ ?
(1) having good socia contacts (2) having connected to the assailants
(3) well connected to the locality (4) connected with the crime
14. The*machine’ mentioned inthe passageis
(1) theweapon used by the attacker(s)
(2) thevictim’spersona weapon
(3) thebicycle
(4) thepolicegun
15. Choosetheword whichissimilar in meaning to the underlined word in this sentence.
The poor family has no visible means of subsistence.
(1) employment (2) respect
(3) livelihood (4) encouragement
16. Choosetheword that isnearest in meaning to the underlined word in the sentence.
His Cartoons lampooned the leaders of histime.
(1) Praised (2) Exposad
(3) Ridiculed (4) Elevated
17. Choose the antonym of the underlined word in the sentence.
Kiran'sattendance at school was sporadic.
(1) Regular (2) Occasional
(3) Shap (4) Co-ordinated
18. Choosetheword that has the opposite meaning of the underlined word in the sentence.
When she saw the stranger, her eyes dilated with fear.
(1) contracted (2) widened
(3) reddened (4) quietened
19. Choose the correctly spelt word.
(1) Playright (2) Mispéll

(3) Skilful (4) Untill

A A 5.
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20. Choose the correctly spelt word.
(1) perceverance (2) perseverence
(3) perseverance (4) perseveranse
21. Choosethe appropriate set of prepositionsand fill in the blanksin the following sentence.
TheSunis the clouds, Vani drew that picture aCrayon.
(1) on,of (2) above, with (3) with,for (4) againgt, across
22. Choose the correct set of prepositions and fill in the blanksin the following sentence.
Stirred pride and envy Satan rebelled God.
(1) off, on (2) in,with (3) with,with (4) by,aganst
23. Choose the sentence which is grammatically correct.
(1) Theevent betelecasted nextweek.  (2) Theevent will betelecast next week.
(3) Theeventistelecasted next week. (4) Theeventwill telecasts next week.
24. Choose the grammatically correct sentence.
(1) Of thetwo major palitical partiesin Britain, the Conservatives and Labour, the later
represents the interests of the working class.
(2) Of thetwo major political partiesin Britain, the Conservatives and the Labour, the
latter represents the interests of the working class.
(3) Of thetwo major political partiesin Britain, the Conservativesand L abour, the | etter
represents the interests of the working class.
(4) Of thetwo major political partiesin Britain the Conservatives and Labour, the latest
represents the interests of the working class.
25. Choose the meaning of the underlined phrase/idiom.
Heisasensible person and knows how to button hislip.
(1) smack one'slips (2) stylishinappearance
(3) pressthelipsto look smart (4) remainsilent
26. Choosethe meaning of the underlined phrase/idiom.
Envy isjust like a Green-eyed monster which can destroy everything.
(1) Anger (2) Hatred (3) Jedousy (4) Fattery
27. Choose the option which can be substituted for the given words/sentence.
A tall strong masculine kind woman.
(1) amazon (2) virago (3) circe (4) coquette
28. Choose the correct one word substitute.

The school or collegein which one has been educated.
(1) Learner (2) Alumni (3) Almamater (4) Graduate
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29. Choose the one which best expresses the given sentence in Passive Voice from the given
options.
One should keep one's promise.
(1) Onespromiseshouldbekeptbyus. (2) One'spromisehasto be kept.
(3) A promiseshould bekept. (4) A promiseshould bekeeping.
30. Choose the correct Passive form for the given sentence.
No one told me about the accident.
(1) 1 wasnot told about the accident.
(2) 1 amnot told about the accident.
(3) | havenot beentold about the accident.
(4) 1wasnot telled about the accident.
31. Thetentht inth iEEE1 '
: etenth termin the sequence =, =» = 2+ L - is
iggg1 QBS00S* HEH HE
21’ 7' 7' 3 T FPLOOE mee =60
15 62 27 104
1) = @ % ¥ = @ =
32. Among thefirst eight termsof the sequencel, 2, 2, 4, 8, 32, 256, 4096, ..., theterm which
doesnot fit into the sequenceis
(1) 39term 2) 5" term (3) 8" term (4) 7" term
1, 2, 2, 4,8, 32, 256, 4096, ... 93085005’ 30&E AN Hrrodt, ¢ edEdos®
DBIUE (2B0E%) Ho
(1) 3% d&o (2) 5% H&o (3) 8% d&o (4) 75 HSo
33. Thetenth term of the sequence 7, 14, 19, 29, 40, 44, ... is
7,14, 19, 29, 40, 44, ... 90EH50065°Q HES Ho
(1) 73 (2) 103 (3) 93 (4) 83
34. If ABBB-—-AAABA -—-BABAAAB ——-BBA isthegiven letter serieswith six missing

|etters, then the correct option which contains all the missing lettersin the order from left
torightis

88 S'odd wioos® ABBB ——AAABA ——BABAAAB ——BBA 936 &8 88 @8
©oNd, S*HoAS vETrY S0 AED ook Bod JYIB ©3 E3os® 8AGQ) B
s:z‘i)tﬁ)éo

(1) ABBBAB (20 ABABAB (3) BABABA (4) BAAABA
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35. 1f BDGL, DGLN, GLNQ, isthe given series, then the correct option which fills
the missingtermis
BDGL, DGLN, GLNQ, O3B SE@FB ©od, SVoAS HTQ) FooB BOGS
aaz‘l)rbéo
(1) LNQS (2) LNQV (3) LNQT (4) GLNV
36. If Z25A, X21C, T13G, isthe given series, then the correct option which fillsthe
missing termis
Z25A, X21C, T13G O3 $8 @B wond, STHodd HTQ) Pood DB
mzﬁ){béo
(1) S5L (2) TiOM (3) NIM (4) R10K
37. Inacertain codelanguageif theword PENCILSiscoded asWKSGLNT, then inthe same
code language, theword DRAWING iscoded as
o8 998 §&erae® PENCILS 03 58808 WKSGLNT m §6 379, o6 §&eras®
DRAWING ¢330 Rwg), §°6
(1) JWEZKOI (2) KXGzPH (3) JWEALPH (4) KXFALPH
38. Inacertain codelanguageif theword DELICIOUSIiscoded asDL COSEIIU, thentheword
whichiscoded as COOATHCLE inthesamelanguageis
DELICIOUS o3 3o°Q) o8 288 §&eras® DLCOSEIIU m 86 3, ©8 §&egras®
COOATHCLE  §°G @288 Héo
(1) CHOCOLATE (2) CHAOCOLET (3) CHOCOLAET (4) COACHOLET
39. Inacertain code language if the word FRUITS is coded as 618211878, then in the same
codelanguage, HEALTH iscoded as
08 Q8Y §&erdd® FRUITS 3 Hdo 618211878 §°& ©008, «8 §&erds® HEALTH
R0g), &
(1) 85115719 (2) 85112208 (3) 19222615719 (4) 19222612208
40. ApointBis 25J2m away along North-East direction from A. Another point Cis50 m

distant along West direction from B. Theend point D is 502 m away along South-East
direction from C. Then the distance (in meters) between pointsB and D is

B o3 Do) A 008 Sy 8IS 2512 .o ErSos® wod. $08 Dok C, HESs
&% Jo2d B $Ho& 50 M. drdoes® wod. C ol wody Hoco) D whch sdes®

50v2 2. 8608 @08, d3d B 500050 D HodhPe Sy Grdo (Dobds?)
(1) 50v2 (2) 50 (3) 25 (4) 25/2
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A clock isso placed that at 6 pm, itshour hand pointstowards South-East. Then at 9 pm, the
hour hand pointstowards

(1) South (2) North-West (3) South-West (4) North
Foogo 6 foLroH 28 K&aSrord), oIS Hobodney eMoSNPOT GoTBEILR
GODT . WY, T7@ 9 Hobed Hobedwey dordol &F

(1) &80 (2) oeosnkgo (3) I8 (4) w850

42.

Two friendsA and B are standing opposite to each other at about 8 O’ clock inthe morning.
If the shadow of A isexactly to hisleft side, then the direction faced by B is

(1) South (2) West (3) East (4) North
GdoDho 8 fovew rodos® A, B o3 agdh Jogen 2888 H&EH Jeioim dead
G, A Bng) ¢ pNEor w8 D IS woB, B 8 whlnporiod) &

(1) &80 (2) DS (3) &rddy (4) w880

43. AisB’'sfather. CisB’ssister. C'shushandisD. EisA’sbrother. D’ssonisF. ThenFisB’s
(1) Nephew (2) Cousin (3) Son-in-law (4) Brother
B Sw§), do&¢ A. B Rwg) 60 C. CRwg) &8 D. A Qg Fdcods E. D Sng),
BodrSdo F wonsd B8 F
(1) Sodendd (2) &= (3) ek (4) >SS

44. If Asays“Bisthesonof my sister’sdaughter’s husband’sfather-in-law”, thenAisB’s
(1) Maternal uncle (2) Paterna uncle
(3) Father-in-law (4) Brother-in-law
“Beldarto o 80 Do) Erdadh GBng) FY Do), Srsmd Ssrdt”. @d A B,
Bg A
(1) 89 sk (2) So@d FBS%:
(3) Soedomrdd (4) =% B erd5088

45. |f A+ B meansA issonof B and A x B meansA isbrother of B, then A x B + C means
(1) Aisfatherof C (2) Aissonof C
(3) Bisfather of C (4) Bisbrother of C

A + B @08 B &g, $5r60@ A 5005w A X B wo& B &g, %¢sd A ©ons,
@iy AX B+ Cowol

(1) CRwg), so& A (2) C Ry, s A

(3) Cxwg), soé B (4) C Ry sk B

A A o
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Every student of an educational institution speaks either Telugu or Hindi or English. If
50 students can speak both Telugu and English, 35 both Telugu and Hindi, 25 both English
and Hindi, 5 can speak al the 3 languages, 15 can speak only Telugu, 25 can speak only Hindi
and 10 can speak only English, then the total number of students of that institutionis

28 DgHoPes’A PAIGY Beod M Bar ol M B AR M Sriyderdo.
50 $008 Dergiyen oo KBS0 200Q Bo&o&3d, 35 Hood Beo LB ob
00&0&A, 25 H0d R0AA HH0XW rod To&oLA, 5 Hd Sk rdedr, 15 Sod
B0y SrE@, 25508 ol Sr@d $000s0 10 008 R0AR S Soredd
HOAE, & HoPS'A Bndo dmgdie Howg

(1) 145 (2) 165 (3) 150 (4) 160

47.

The converse of the statement “1f anumber iseven, thenitisdivisbleby 2" isgivenby “If a
number isdivisible by 2, thenitiseven”. Here both the statement and its converse aretrue.
With this information, choose the statement among the following four true statements
whose converseis also true.

(1) If atriangleisan equilateral, then it isisosceles.

(2) If anumberisdivisibleby 6, thenitisdivisibleby 3.

(3) Ifthesumof dl thedigitsof anumber isdivisibleby 3, thenthe number isdivisibleby 3.
(4) If aquadrilateral isasquare, thenitssidesare equal.

‘2.8 Dopg D0Dopg Wod, ¥& 2 W Prhobndedod”. ¥ HEEso B, DHEAB0
‘o8 domg 2 W erhoUndd, ©b H8dowg”. & & DIWSH80 HH0WW T JHIga%o
Bodkr Jggo.

& ST EoS’, 808 /YS T dEy WIBTST, JDTgatn Sram dEgtidog
BIBI"Q) dosob.

(1) 28 @hao dherdv @ehadd, b ddderdv @ehaldTEos.

(2) o8 dopg 6T erhodadd, b 3 VS rhobaddsod.

(3) a8 Jopgs™d woswRNGo 3T TAodES, & dopg 3T rAoNEIS0.

(4) =8 Sdodyeo FEERB, T Ty gharen DHTSH0.

48.

If ‘@ means ‘+', ‘# means ‘-, ‘$ means ‘=’ and ‘% means ‘x’, then the value of
49@64#75%$25%36 is

‘@ @oB ‘4, '# woB ‘—,'P ©oB ‘+ 508050 ‘% ©o8 ‘X ®ond, 49@64#75$25%36
o?mézj e

(1) 5 (2) -123 (3) 93 (4) 6
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A car coversadistance of 560 kmin 8 hrs. The speed of abikeisfive-sevenths of the speed
of the car. If theratio of the speeds of the bike and atrain is 5:9, then the distance (in km)
covered by thetrainin 5 hoursis

28 5% 560 8.0.0 $rovd) 8 Kowes® BoKww. ws BE IKdn & 556 IK0d® d&ob
&S Sodormr ob. & BE $H0 28 Bew B IToIRNG 5:9 wond, 5Kotes” Jeo
50{95@75\ Br8s0 (8.20.06°)

(1) 250 (2) 450

(3) 330 (4) 400

50.

Thedistance between two stationsA and B is 240 km. It takes 2 hoursfor thetwo carsL and
W to crosseach other if they start respectively from A and B at the sametimetowards each
other. Further, it takes 8 hoursfor L to overtake W if they both start at the same time from
A and B inthe same direction. Then the speed of thecar L (in kmph) is

Todd QA% A Lodasn B e Hogg drdo 240 8.a0. L 500050 W o3 3ok 578 S0
A 508050 B o 5008 28 95500508° 2200088 VBT HSTBER, w8 TISES
T’ HF o0 2 foen. ROS°, & Bok 528 A $dckn B o ok o3 ddoohos®
000BO 28 BIS° PasrdR, W L oreomdsd 58 steo 8 Hoben. wdyd 528 L
R0, 350 (8.20/5080%80)

(1) 45 (2) 50

(3) 75 (4) 80

ol

An employee will be late by 12 minutes to his office if he rides his bike at a speed of
40 kmph and hewill beontimeto hisofficeif herideshishbike at aspeed of 50 kmph. Then
the distance (in km) of his office from his houseis

a8 B&gh B8 It 8w Kotodr 408.a0. © IKoS® $ENB B ko 12 died
BODGOT VKIS W OGN VS It 8L Kotosd 50 8.0, © FKod $&2S W&
2R0B DOTE DHHS® BB . BoNB WS Qo3 Kok WS SPE Ko Brdsn
(8.20.06?)

(1) 80 (2) 60

(3) 20 (4) 40
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Directions for questions from 52 to 54 : In each of the following questions from 52 to 54, a
statement isgiven followed by two conclusions numbered | and 1. You have to decide which of
the conclusion(s) follow(s) the statement.

Giveyour answer as

(1), if only conclusion | follows;

(2), if only conclusion Il follows,

(3), if neither conclusion | nor 11 follows;

(4), if both conclusions | and 11 follows.

52 (006 S 5850 o PWHBH Jrdden: ol 0dadS 52 Lod M 8% fo PWHoS”
WETAS® 0.8 HHWI0, T ook | 0das0 | &P Bok wdhdoden (conclusions) aseeEsod.
88 PIBTQ @ VNS Brr VA VHBOAR® W& ATBoTd.

308 | Sr@d 95008, X ddrerdo (1) ol;

930N || Sr@H D8R, D ddraedo (2) wi;

el |, Il 05 & 9LdBosEFs, J dSrarso (3) vd;

ol |, Il o Bodr wHde, o drgrso (4) ©d ondtod

52. Statement : Asit standstoday, some Indian sports are not what they were once. India
had significant victoriesin footbal| and hockey earlier.

Conclusions: 1)  Presently we have no good players in football and hockey in our

country.
[I) Indialost many football and hockey matchesin recent years.
©B3SS0 ¢ S8 FJ) 8BS oo 288y ediom 3k BY. 08K oKW

DEerS 500050 FHEOS® TESBF0 KICHIL Juasrold Fodod.
ol 1) DPEo 08 BFoS® HSerS $o80%H FHEwSt 500D L) B.
) 28Soseod® rddddo wrer a8 PTerd Homn 8 Fhos®
WHBO0 FBod.

53. Statement : All rectangles are parallelograms.
Conclusions: 1)  Noparalelogramisarectangle.
II) All parallelogramsarerectangles.
©3WSo o) 8Y, FLFTor HETodY WNES.
e @ 1) Q dSross zﬁéoéo?baém 6%&&36@:&3 5.
1)) OQ) JdrosY zﬁeéodoebzaww 8%5}3 S S.
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Statement : A and B are extremities of a diameter of acircle. P and Q are any two
points on the circle such that APBQ isaquadrilateral.

Conclusions: ) APB =|AQB

) |[PAQ=|QBP

RIES0 A 3508050 B oo 28 o Do) a8 argddan B wodgdothen.
P$o0as0 Qeo APBQz wddiyz Soddgiotnm 580 Ko BT Bokd
Qooyen.

whHdse 1 1) |APB=|AQB
) |[PAQ=|QBP

55.

A tower isinthe shape of acylinder surmounted by an inverted cone of the same base area

as that of the cylinder. If the radius and height of the cylinder are 26 m and 14 m
respectively and the height of the cone is 5 m, then the lateral surface area (in square
meters) of the tower is

28 K)J(géo’gg T Sr3Tergds dIrIHS PrdTogo EOAS w8 FogpaHd S'PodILnm
&) ErHoeS® w8 FHo &, dFHo G008, FgrgR, JFeo SEHBT 26 ., 14 .
500050 Fopod) RBwE) A&y 5. wond, wFHIo RBwE) @S (Fdpse) Seogo
(5.20.0¢5%)

(1) 330 (2) 2206 (3) 3306 (4) 220

56.

The part abovethe conefilled with ice-cream |ooks as a hemi sphere surmounted on itstop.
If the height and the radius of the cone are 13 cm and 4 cm respectively, then the volume
(in cu.cm) of theice-cream is

RN’ VoDAS ¥ Jopod) DY) K0S’ PBE, F°PoNS witFor wHB.
fomoyd) RE), Iy, TgrTeo SHIM 13 0.0, 4 0.0, wond, &9‘335@53 Ry,
D5HBS3re0 (P0S "Soo.f)oo‘ej‘)

(1) 198 (2) 176 (3) 352 (4) 396

57.

From awooden cube of edge 14 cm, aright circular cone of maximum volumeis carved
out. If the volume of the removed portion of the cubeisV, then 3V (incu.cm) is

14 20.20. @0l KOAS a8 §o%g 0380 ok KR IH/Iran EOAS o8 ©ow
:5')552053 Fopo)B V5 K. D50 Dok FOR0AS errfo FBwE) WSHBSrw0 V, wond
3V (505 ondoees?®)

(1) 2744 (2) 2025.33 (3) 868 (4) 6076
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A solid metallicright circular cylinder of radius 3 inchesand height 8 inchesismelted and
recast into identical hemisphereswhose baseisequal to the base of the cylinder. Then the
number of hemispheresthusformedis

3woherw Tgrgo, 8worere J&) Ho a8 S ©oB5BH S*HY Srard) §0A0D, &
Srdo Bwg), 857078 JIrI s5rdo §OAS JSeIIrS @gﬁ%ﬂwm PSFTE. @IPE

@

& Ao Erroddd @gﬁﬁwo Sdopg
(1) 2 (2) 4 (3) 6 (4) 8

99.

A solid iron cube of edge 24 cm ismelted and recast into arectangular sheet of thickness
2 mm. If thelength (1) and breadth (b) of the sheet areintheratio 6:5, then| + b (incm) is

24700.50. ®orHe &8 K 80D HdB0k E0A0D, 20.20. oo EOAS 8&5)) SEERTED
TEomr FE FITH. & TH Bwg), FEY (1) Sodakn Ideoy (b) © AXG 6:5 v,
@dyd | + b (Ronbeos?)

(1) 484 (2) 528 (3) 561 (4) 594

60.

A vendor sells vegetables at 12% less than the cost price, but manipulates the weight of
800 gmsas 1 kg. Then hegets

(1) 10% profit (2) 10% loss

(3) 15% profit (4) 15% loss

28 QDT HE Erdmobeod Fl &8 §o8 12% S5 58 wsoerds, wond 800
r0e 050HKH 28 8STrSnm SN ©[500)e°dd. VIV V88 SHYS

(1) 10% erglo (2) 10% &S0

(3) 15% erelo (4) 15% Sgo

61.

A dealer bought an article for Rs. 400 and paid Rs. 40 towards its transport charges. If he
sold it for a profit of 20% on the cost price, then he gets

(1) alossof Rs. 40 (2) aprofit of Rs. 40
(3) alossof Rs. 80 (4) aprofit of Rs. 80

08 880 28 30HS 400 Sriwd 89, & Sares &) 8o 40 Srien BYowrdh. §°8)
S8 20% orFos’ A BN, WIPR WEE FPoBd

(1) 40 &rnen SHo (2) 40 &sruen orglo
(3) 80 &rnen SgHo (4) 80 &ruen orglo
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A telephoneissold for Rs. 4,000 at aloss of 10%. Thenthe price (in Rs.) at which it must
be sold in order to get a profit of 17%is

w8 BOPS 10% 3508 4000 Srned dEonotndod. 17% orgfo odads, od

JEB0N0BIOVS FE (Ernees®)
(1) 4,400 (2) 4,800 (3) 5,200 (4) 5,600

63.

If acertain principal amounts to Rs. 34,000 in 3 years and to Rs. 40,000 in 5 years at a
simpleinterest of r% per year, thenr =

$05)0°8 1% 2316356%@6 808 wden 3dosoree” 34,000 8rnen 0005w Sdoddores®
40,000 &riie 0808, @I I =
(1) 8 (2 15 (3) 10 (4 12

64.

If aprincipal of Rs. X, at arate of interest 20% compounded annually for 4 years amounts
to Rs. 62,208, then x =

X e, @deo &S0y O 20% SESG Kesos® 4 Sosidine sl wdg Bogo
§5.62,208 0208, wdyed X =
(1) 30,000 (2) 40,000 (3) 35,000 (4) 45,000

65.

A man borrows Rs. 5,000 for 2 years at the rate of interest of 16% compounded yearly. If
at theend of thefirst year he paid back Rs. 500, then the amount he should pay at the end of
the second year is

8 358 O 16%5E5¢ Bend 5,000 808 2 50588500 5°erd§ @I Sosoar)k.
0088 DosgTrogos® wEdd 500 drien 38K B, Bods HoSH)T0B0S” WS
BOOWIOVS ooy

(1) Rs. 6,228 (2) Rs. 6,148 (3) Rs. 6,728 (4) Rs. 6,648

66. Thesimultaneouslinear equations 2x— 3y + 4 =0and 3x—2y—-4=0 have
(1) no solution (2) uniquesolution
(3) finite number of solutions (4) infinitely many solutions
2X—3y+4=058050 3X—2y — 4 = 0 03 3505708 D80S dHAESeTroso
(1) S eod (2) 938 &S Gotnod
(3) FEde dompg HBWEoT wotwod  (4) wI08ISG FEde0 otrow
67. If the simultaneous linear equations 2x — ky + 5= 0 and 3x + 2y — 7 = 0 have a unique

solution, then
2X— Ky + 5=058050 3X + 2y — 7 = 0 03 35508 JEdrd Hogerodd 88 ¢S

&08, @O
4 4
(1) k=-3 (2) k=-3 (3) k#-3 (4) k=3
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68. 30 applesand 23 guavastogether cost Rs. 392. If 7 guavas and 15 apples of the samekind
together cost Rs. 178, then the cost (in Rs.) of an appleis
30 &S Hocky 0050 23 e Hod Fwugo PO 392 Eriew. WIEEY T o Doy,
15 2S5 Hog Ingo 28 178 Srien ®ond, 8 6N Hodk PEE (Srnees®)
(1) 20 (2) 14 (3) 10 4 4
69. 190of 21+27-36+3x6+4—-2=
(1) 426 (2) 356 (3) 383 (4) 330
70. Thesumof all two digit natural numberswhich aredivisibleby 3is
38 riodad Bodose dirs dopgodotd Ingo
(1) 1665 (2) 1776 (3) 1110 (4) 1265
h h .1 1 1
71. Thesum of the 9" term and 12" term of the series =, —, —, ... IS
7 11 15
1 1 1 .
=, =, ——, .. @8BS 95 Do B 128 dme Iwdo
7 11 15
10 10 98
W 221 @) 663 () 221 4 2365
72. If acardisdrawn at random from apack of 52 playing cards, then the probability of getting
acard having aprimenumber is
52 08 S en Ko el w8 §QH0s aSrd)Eor el w8 Swng) s 2303k, s
Dopglo EOAL 0E S0 K PodT8 Ko Dogrdgs
1) 13 ) 13 ) 13 (4) 13
73. If two dice are thrown simultaneously, then the probability of getting distinct numberson
themis
B0k FAEOL s wos” GBONINY, T8 APX) Jopgodd FodEIE o JoerIgd
N , 5 o 1 o L
(1) 3 @ 3 ® 3 @ 3
74. |If 3 coinsaretossed simultaneously, then the probability of getting atleast 2 tailsis

3 rBod dEste0s? Qﬁocﬁ?ﬁ?o:ééjcéo, Q%0 2 008 FoldEds Ko DoerSges

3 1 1 1
(1) 3 (2) 5 (3) 1 4) 3
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75. Among the first nine terms of the sequence 5, 7, 11, 19, 31, 67, 131, 259, 515, ..., the
number which doesnot fit into the sequenceis
5,7,11,19,31, 67,131,259, 515, ..., 95E500S5°Q INEE FAh Hmred’, & odEsos’
DOHED (R506D) dowg
(1) 515 2 7 (3) 31 (4) 131
76. Who wrotethe book ‘ Poverty and un-Britishrulein India ?
(1) Ramesh ChandraDuit (2) Rudder PameDuitt
(3) Dadabhai Naoroji (4) Surendranath Benerjee
‘>EE ©0& W-OBR S B RAAT o) FNONSE IHL?
(1) 3R o 88 (2) 8¢6 >S 88
(3) mmerdd I8 (4) SBodard BIY
77. “Givemeblood, I will giveyou freedom” - Who said
(1) Jawaharla Nehru (2) SubhashChandraBose
(3) MahamaGandhi (4) La Bahadur Shadtri
‘T80 880 @00, Ik 0B FgSoErgR) AT WHB IHE?
(1) e356ors IJToe (2) JoerQsold &%
(3) SoFtery mod (4) od abrdrs T
78. Indiawastransferred from East India Company to British Crownintheyear
(1) A.D.1858 (2) A.D.1857 (3) A.D.1859 (4) A.D.1947
208050, $9 R0AAT o Hod OER TEdE Fod BodR Srdndd HodLdhn
(1) &.%. 1858 (2) &.%. 1857 (3) &.%. 1859 (4) &.5. 1947
79. Whichformulawas proposed by Muhammad Ali Jinnah after rejection of Nehru Report?
(1) Thirteen points (2) Fourteen points
(3) Fifteen points (4) Sixteen points
ST BBED 880008 ogd SIS 6O 2T @ IrEQ) POAFHoBH?
(1) I&Sorcdy Sov@ren (2) domen dreeen
(3) Hard drEen (4) D53 dov@ren
80. Under Lahore conspiracy case, Shiva Ram Hari Rajguru was executed on the following

date

(1) 23 March 1931 (2) 23 April 1931

(3) 23 February 1931 (4) 23January 1931
oSTE ey T (808 33T 70 TrERISK w8HVS @ 8g0 J8?
(1) 23 &gy 1931 (2) 23 oS 1931
(3) 23 %8 1931 (4) 23 =358 1931
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81. Which one among the following was not the founders of the revolutionary organization
Hindustan Republic Association?
(1) ChandraShekhar Azad (2) SachinSanyd
(3) RamPrasad Bismil (4) Jogesh ChandraChatterjee
TodryS BD9E VRVADRS ©F RS oY FILOS® Bod TOST I BEHh?
(1) WNokins werd (2) 230 dogd
(3) ocoRFE S (4) B, $0f
82. TheBritish Officer Saundarswas assassinated by
(1) BhagatSingh (2) SuryaSen (3) Jdtindas (4) SachinSanyal
OBA 850 FoEd) PO &g Bakerzd.
(1) e5K5Sdoh (2) droges (3) @83 (4) 208 dags
83. Who criticized the offers of the Cripps Mission as “the post dated cheque drawn on a
folling bank”?
(1) Nehru (2) Gandni (3) Azad (4) RaendraPrasad
B WUS 2P JFHES B, “Baror W) wrgodty add) S0oddy BEym”
QS J%Byowrdd?
(1) 3G (2) m™o& (3) w=r& (4) oZo s
84. Naganikawho ruledthe South Indiaasaregent during the Satavahanaperiod wasthe Queen
of thefollowing ruler?
(1) Srimukha (2) Satakarnil
(3) Satakarnill (4) Gowthami PutraSatakarni
PETTHO TO0S® e rEETT) Trag HoSEET O FOoNS THIE &% Bodaros”
D50 o°ed?
(1) 3Soopodsd (2) Soose3 T$88
(3) Bods +s83 (4) TEDHE T$8Y
85. During the Satavahana period, for the Administrative purpose kingdom was divided as

following.

(1) Ahaa (2) Nadu (3) Sma (4) Shda
TETTHO TOT 5°00S° HOTFoT Jogo §do TreErgd) §od Do drowr.
(1) e5%¢ (2) < (3) &% (4) o

A 18.C


{DBF 128}
{DBF 129}
{DBF 130}
{DBF 131}
{DBF 132}

P-1

Booklet Code

86. Whowasthefounder of the Pancharamasin Andhra?
(1) KubjaVishnuVardhana
(3) RgargaNarendra
BOFBFOS” DoTTETrO TS ASK?
(1) sog g 3Gk
(3) oreore: SSo|Kocd

(2) Pulakeshinll
(4) ChalukyaBhimal

(2) Bodd Hose
(4) 3058 ooy Dok

87. Placethefollowing rulersof Vijayanagarain the chronological order
1)  AchyutaDevaRaya

iii) Venkatapati Il

i) DevaRayall
Iv) SduvaNarasmha

B0d JuoSKS Fotd) serdoBsoomr Dod.

1) wdgs TdSoocd
i) Bo&kd JoBeodd
(1) i, i, dii, v

(2)

v, iii, i, i

i) Bodd BIoraSen
V)  &rend S8vode
(3) il i, v, ii (4) i, iv, i, iii

88. WhowastheAuthor of thework “ Saka aniti Sammatam” ?

(1) Prolargall
(3) SingaBhupda

DB é:éa&ééao’ Bod B0 D5E?

(1) Bo&s rooeer
(3) 0f grrendd

(2) Madiki Sngana
(4) RudramaDevi

(2) %088 Dok
(4) S85:89

89. Theconstruction of Orugallu Fort wasinitiated by the following Kakatiyaruler.

(1) RudraDeva
(3) RudramaDevi

(2) Ganapati Deva
(4) ProlaRgall

8.8 ¢ Qo) SE0DONS 5°E80H Dodod.

(1) SogdHE
(3) So$BoBD

(2) Keaddd BHekd
(4) Bo&kd o ore

90. Inthefollowingwhich Teluguwork describesthedaily life of KrishnaDevaraya?

(1) Manucharitra
(3) Rayavachekam

(2) Amukthamayada
(4) KrishnaDevarayaDinachare

& 808 o B Hogos® &R BSTo BIWSy HSPotadod.

(1) Sodowsos
(3) oraarwsEsm

(2) es5085r0gs
(4) gpdsoad 6550
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Vajrakarur isfamousfor

92.

93.

(1) Textiles (2) Gald (3) Diamonds (4) Copper
SEE8rs B8 HY

(1) S&eo (2) =omdo (3) Sezren (4) oa
AndhraMahilaSabhawas established by

(1) Sarogjini Naidu (2) Durgaba Deshmukh

(3) MuttuLakshmi Reddi (4) Duvvuri Subbamma

0§ DIredy OV FHoW2AIE

(D) 3828 arosndd (2) SoTerdd BFS0D

(3) Swnhel) 34 (4) g0 SoeySoy

Sri Mukhalingam islocated on the banks of theriver

(1) Vamsadhara (2) Nagavdi (3) Gosthani (4) Champavati
NINTA 2,088 3 Sopdoio Eeckd?

(1) So¥s (2) oS (3) A (4) Sord&

94.

Two objectsA and B are projected up with vel ocities20 ms and 30 ms™ respectively. The
ratio of the distances travelled by them in the last second of their ascending motionis

A, B @ 3otk sk $6dm 20 ms™, 30 msIres® 28 285 83 e

FOK0S” DH0 DESS® @ PHaSrBo drore NG
(1) 2:3 (2 4:1 3 1:1 4 9:4

95.

A particle of mass ‘m’ is moving on acircle of radius ‘R’ with uniform speed ‘v'. The
average force on particlein theinterval in which it completesahaf circleisequal to

Mo (55078 Ko w8 8o ‘R gdrgo fo $)803 808 $& 'V & $0in b, wb

08580 Y DAL HEPFTOIFIRS” TP &) D078 wwo B8 JIrSo

mv2 2rmv2 mv2 mv2

Y R’ @ 7R © 7R @ 2

96.

A man of mass 80 kg is moving in the compartment of atrain with avelocity of 10 ms?
eastward with respect to train frame. Thetrainismoving withavelocity of 10 ms=westward
with respect to ground. Thekinetic energy of aman in the ground framein Joulesis

80 kg © (855078 o 28 592 Bew A Sod & BEo Hom SrEndFS® 10 mst
308" Eeheothard. Beo 10 MST 3508 HEHS BIT HSFBoBWHS ardd o
Do w8 K8F§ T SoS®

(1) 0 (2) 4x10° (3) 16x10° (4) 8x10°
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97. How much of heat isto be removed from 50 g of water at 50°C to convert it into ice at
0°C? (Latent hesat of fusion of ice = 80 cal g1 and specific heat of water = 1 cal/g/°C)
50°C (8 $¢ @) 50 g © B 0°C $¢ oo (ice) m £rg)trds ol $0b
FohoTdS GHo Jeod Nod? (Kot HVFSS KEgo = 80 ca g Kovasn A
DerRsn = 1 calg/°C)

(1) 6500 caorie (2) 650 caorie (3) 650J (4) 6500J

98. Thespeed of soundinairis340ms=. If itsfrequency is 170 Hz, then the distance between
compression and immediate rarefaction (in metres) is
mOS® &6 Sifo 340 Ms. 170 Hz r8:Sg0 Ko G0 mOS* Hosredigd)dpedd Seidm
ABES Donddo, D8PEmon Ky Erdo (Weds®)

1) 1 (2) 2 (3 3 (4) 4
99. Thephenomenonwhichisnot involved intheformation of rainbow is

(1) Dispersion (2) Tota internal reflection

(3) Refraction (4) Diffraction

QO G5B Dcﬁbcééaoeﬁ‘ A SyAgacsoo Gocd?

(1) gdeo (2) DorToss Horsdso

(3) xS0 (4) 25830

100. Inthecircuit shown below potential at point A is20V. The potentia involtsat point B is
8ol Sr0d Seafo (Circuit) &° A Hothd) & FBICHS 20 V @ondS B Hoikod $5¢§
FBYS F'G (Volt) o

1A 5V
Ae—>—MAM—i—B
50
(1) 20 2) 15 (3) 25 (4) 30

101. Two particles start ssmultaneously from origin and moves along +ve X-axis. One particle
moves with uniform acceleration starting from the rest and second particle moves with
constant velocity. The distance between them
(1) Continuoudly increases
(2) Doesnot change
(3) Firstincreases, decreases to zero and then increases
(4) Firstincreases, reaches amaximum value and then remains constant

Boch Seren Horre DoY) $0é +veX-vgo Jowd wBd HaSTouito In0cen LT,
288 oY $0d NG ¥ FiEpoe’ PHATBRHG. BoESd JEIK0s"
BOrBRYS B g Erdo

(1) ESoom DEHKSE 0

(2) S8

(3) [ocser 0A, DN &7, So0E DEKS0H

(4) Soocses 0N, KBH DeSd Fob, 078 o Srddy oK

A 21.C



{DBF 79}
{DBF 80}
{DBF 81}
{DBF 82}
{DBF 83}

P-1 Booklet Code | C

102. The products formed during the electrolysis of brine are
B DBogBIFAD0 BoBONIVYE IHE wS)yTe0
(1) NaSO,,S0,,H, (2) NaOH,H,,Cl,
(3) NaCl,H,,Cl, (4) Na,COg CO,,H,
103. Which of thefollowing isan ingredient in antacids?
Bod 8BS’ 28 wHAG DS (antacids) w8 erfor onod?
(1) Na,CO, (2) Na,0, (3) NaHCO, (4) MgSO,
104. Identify the metals which do not react either with cold water or hot water from the list
givenunder.
808 =de $r00, FQI IBE M, & IBEM T To& ST KFowS0.
Mg Al K Zn Fe Na
I nm v VvV WV
(1) 1L, Vionly (2) 1,1V only (3) IL1V,Vonly (4) II,VIionly
105. Which of thefollowing hasthelowest pH value?
(1) Blood (2) Gadtric juice
(3) Purewater (4) Sodium hydroxide solution
Bod T8eS® 2B 8K PH Deodd 800 eotwod?
(1) %o (2) =888%0 (mg@g 8%0)
(3) g meoo (4) F&HOTEHE w0
106. Which ores are generally subjected to roasting in the extraction of metals?
(1) Oxideores (2) Sulphideores
(3) Carbonate ores (4) Sulphateores
SIte Y Ead’, o TdHod Fedwon $ES HEs (Roasting) &' Id?
(1) «85& FsoHen (2) JBYE TdYHeo
(3) OIS FrédoHen (4) Kvégéﬁ & Hen
107. Themeta leadispresentintheore, X and metal mercury ispresentintheoreY. X andY are
respectively
(1) Bauxite, Pyrolusite (2) Haematite, Galena
(3) Gaena, Cinnabar (4) Cinnabar, Gaena
X 98 70)S® 8& S*5r0 &0tnod. Y 9l 57l (0re) &° ardsdo S°50 & 0dnod.
X, Y 0 S&dm
(1) @5, D80 DE (2) rHBE, RO
(3) RO, 2JerE (4) 2326, RO
108. Theoxideof metal ‘X’ reactswith both hydrochloric acid and sodium hydroxide. What is X ?

X 0% S0 R, ef)k, TEE 08 sio, FEdDo rER)E Bobol3S K g
So&E08. ‘X @358 8?2
(1) Na (2) Mg 3 K 4) Al
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109. Following are some of the organismsin an ecosystem. Arrange them asafood chain.

) Frog [I) Grass 1) Snake V) Eagle V)  Locust
8 BTN 5603:6{\:365&) §Q) BPeo 8o &) Samon. T8 wHE Teodom wddok.
) &3 1) %& I eo ) S0 V) g V) &8
Q) H—=>1=>1H—=I1IV->V 2) N=>V—=21—=1l—-1V
3 V===Vl 4) V2=V —=Il00—d
110. Snow-blindnessisdueto
(1) Infraredrays (2) UV-Arays
(3) UV -Brays (4) X-rays
@3—%0535@ 5°800
(1) Hordoee 88saren (2) UV - Ag8eoren
(3) UV -B8d8eoren (4) X -88eoren
111. Pick up the mismatched pair
(1) Coxal glands- Scorpions (2) Mapighiantubules- Insects
(3) Nephridia- Prawns (4) Flamecells- Flatworms
JBM 2 DI w2sl0 KHdowod
(1) &S Bogoen - 8% (2) SrONHS T - §eosren
(3) Syppeo - Fodgen (4) egeor Seoren - QI Y
112. Matchthefollowing.
List - | (Chordate group) List - Il (Example)
a Fishes 1)  Bungarus
b) Amphibia i) Camelus
Cc) Reptilia lii) Labeo
d Mammdia Ilv) Passer
v) Bufo
8od LI BS8J8W0k.
e - | (573¢ Do) e - |l (o)
a) Sosygen 1)  avomd®
b) &efassoren i) sweod
C) doHyren iii) &9Haar
d §Soren V) S5
V)  auesr

The correct answer is:
BOFIS DETTHE»
(1) &iii, b-v, ci, d-i (2) aiv, b-v, c-i, d-ii
(3) &ii, b-i, c-v, d-iii (4) aiii, b-iv, c-ii, d-i
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Catalytic converters are used to

(1) Control SO, pollution

(2) Control poisonous gases in automobile exhausts

(3) Control particulates of exhausts of thermal power plants
(4) Dispose hospital wastes

BLBEE ES5cgGody B8 IIRBFALED

(1) SO,sendg dohoEen

(2) JIrtrs oo PES JRTNYe AovoFeo

(3) &S g oEre PHS'Y Teaddrsd Dorge oo

(4) SRS SsTo FooPIL

114.

Polyembryony iscommoniin

115.

(1) Banana (2) Tomato (3) Potato (4) Citrus
wIonods (Polyembryony) d0e® S8crgdeo
(1) o5& (2) e°Sores® (3) =omgLood (4) Iy
Match thefollowing.

List -1 (Alkaloid) List - 1l (Use)
a Caffeine 1)  Antiseptic
b) Nimbin 1) Sedative
c) Scopolamine iii) Excitation of nervous system
d) Pyrethroid Iv) Treatment of Malaria

V) Insecticide
8od LI BS8J8Wok.

e - | (@ob@ow& e - || (&HRrK0)
a8 IS 1) Qo8RE
b) odS i) Sogy S0
C) AYFoIS i) 5"%26525“%3 “8es 5880
d DoEroné V)  S080c8r D8
V) 8LEaead

The correct answer is:
BOGS HEPEES0 !
(D) &iii, b-i, cii, d-iv (2) av, b-ii, c-i, d-ii
(3) &iii, b-i, c-ii, d-v (4) &i, b-iii, c-iv, d-ii
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116. Statement|:  TheNADH synthesised in glycolysisistransferred into the mitochondria

and undergoes oxidative phosphorylation.

Statement 11 :  NADH isoxidised to NAD" fastly in fermentation and slowly in agrobic

(1)
(2)
3)
(4)

respiration.
Both statements| and |1 aretrue.
Both statements| and |1 arefalse.
Statement | istrue, but statement |1 isfalse.
Statement | isfalse, but statement 11 istrue.

gy | QF’O?O%QTS 00328308 NADH 55708 05rS” es§)BE8 FramBBas Bokdod.
ogg |10 8eagdoes® NADH Sood NAD" 3Koms, arasndsres FO 800’ SRMIAIgIN

(1)
(2)
3)
(4)

%sébééeao BOo0&0&.
Frgagen |, 11 08B0d.
TG0 [, 11 5008D 5°).
gy | D8R8, 570 argpg I H8RIE 5.
rgpg | FBRIB 570, 570 Trgpg I H8I6.

117.

Study the following statements and pick up the correct ones.

1)
1)

1)

V)
8od

)
1)

1

V)

(1)

No energy expenditure takes placein diffusion.

Infacilitated diffusion specia proteins hel p to move substances acrossthe membrane
by utilisng ATP.

In plantstransport of materialsover longer distances proceedsthrough the xylem and
phloem and is called transl ocation.

Facilitated diffusion is non specific for molecules to be transported.

WOTR0 WEHANS0 B HBS B Mook,

Jd8ee (diffusion)ess® 3§ DIRBorKo esBKLo.

Joogss 08t (facilitated diffusion) @33§§ 3 80en K)CS"%"O(‘& &eSo oo
Eareae Bod%0e® ATPY dABrA0wB 0T 00.

INH oS THY, FIE SwEroo T ErFosoRH HTTe TwT VIF)
289 (trandocation) woérso.

Dowgfss dd8ee (facilitated transport) Sarese VoS08 wenHosd Q8Zo 5%
(non specific).

11 (2) IV (3 L 4 v
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118. Study thefollowing and pick up the correct statements
) A mycorrhizaisasymbiotic association of afunguswith aroot system.
[I) Thewater lossthrough theleavesof plantsinitsliquid phaseis called guttation.
[I)  Transpiration occurs mainly through the slomatain the leaves.
IVV) Noenergy isrequired for diffusion.
(1) lonly (2) landllonly
(3) I, llandlllonly 4) LI andIV

808 T8 vdgaiso WD $od woresh KHgokod

) 08B 038 3000, I SgHPe HTESS dowodo.

1)) §Q) 0§ o s o QB (BF ErHoS® adtodd oHE) DocdoRrdo ((‘iEéZqS)
@0 &.

) erdy@ygo Sopgomr eHod® God JY Somre Tgor 28i&E0d.
V) 238008 $§ 9sd8o Sb.

(1) | sm&o (2) | 508050 Il &0
(3) |, 11 208080 I S0 (4) 1,1, 1 %0850 IV
119. Appearance of hair onthe head of human embryo occurs at this month of pregnancy.
(1) 3%month (2) 5" month
(3) 7" month (4) 9" month
$ord35 DOTRAZYRS” 1 deo 230mE & RS’ @700 S JoEEeD T°HE0 @S0 ob.
(1) 3% IJIv (2) 5% IJo
(3) 7% I (4) 9% I

120. Pick up the odd one

(1) Mangifera (2) Cycas (3) Pinus (4) Ginkgo
Do &) A Kgotodk
(1) Srozzor (2) 289 (3) 255 (4) Aos’

121. Genotypic ratio of Mendelian Monohybrid crossin F, generation is
OROTDNS 2 Ho8E H08800s™ Fy 60&5° akogdarid Q.

1) 31 2 11 (3) 1.0 (4 1:2:1
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122. Statement|:  Insponges, digestionisintracellular and they have canal system.
Statement |l :  Cnidarianshaving exoskeleton are ableto formislandsin seacalled corad
reefs.

(1) Bothstatementsl and |l aretrue.
(2) Bothstatements! and |l arefase.
(3) Statement | istrue, but statement Il isfalse.
(4) Statement | isfase, but statement Il istrue.

Tgpg |1 Byorfes’ rodds #FBoH udod. IBS® Lerghgsy wotnod.

g 0 erdeg wHozdo EOAS ARBONSY dSwios® Beres Dd&éiﬁﬁ@@. T3
B¢ Boaren ©olrd.

(1) Segwgen |, 11 H8R0ID.

(2) argpgeo |, 11 HOROSD 5.

(3) gy | D8G0SB, 570 argpg I HO8SIE s°ck.

(4) orgpg | D8G0IH 5280, 50 argpg I HORSS.

123. Function of synergidsis

(1) Nutrition (2) Directing the pollen tube
(3) Formation of endosperm (4) Formation of pollen grains
QT8 oo (Synergids) 8
(1) R (2) Sooisreds Sorard) dg3owto
(3) wossHm Q) QEBBL0 (4) Horrdedoln d8EEL0
124. Thenumber ‘zero’ wasfirst invented by whom?
(1) Romans (2) Ardbs
(3) Indians (4) Greeks
B0&) 008 0 EIDLS T?
(1) & (2) wdayen
(3) ers&csoen (4) Hdoen
125. Who isthefirst martyr of the 1857 Revolt?
(1) Manga Pandey (2) Bahadur Shahll
(3) NanaSaheb (4) Jhans Lakshmibai
1857 8510e7¢neS® &0 908 50 P! ?
(1) SooSaroad (2) Bo&d 2aH&srs ar

(3) &o Fwod (4) &) w8
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126. Inwhich Indusvalley site more number of wellswere discovered?

(1) Hargppa (2) Kdibangan

(3) Lothd (4) Mohanjodaro
Q VOFrS A PBFL0S’ QEYH I0BoS® erden SR S2EID.
(1) &8y (2) s ®=0K

(3) S'S (4) IvTrostees

127. Namethe Principal of the Anglo-oriental college, Aligarh, that changed the attitude of Sir
Sayyad Ahmed K han towardsthe Indian National Congress.

(1) Theoder Marison (2) Henry Siddons

(3) TheodoreBeck (4) WilliamArchbold

T3S 80 FoRR Dy B Hogh VTGS IO SrB)d 806 @0 -8,8000LS
oo RAFTS 2.

(1) BRrE6 57838 (2) ® 238

(3) BIrsSE B (4) DOc%o e§E'S

128. Matchthefollowing.

List-1 List-11
a8 LingargaTemple 1) Chola
b) VakuntaPeruma Temple i) Hoyasda
c) BrihadisvaraTemple 1) Ganga
d) Belur ChennakeshavaTemple Iv) Pdlava
& 1808 T3 =SR000&.

-l -l
a doKore: woddo 1) ¢
b) [ood DHIrE secdo ) S
C) a)>Q¥s esodko 1) Ko
d) Beord BHBIS weocho V) $ed

The correct answer is:
BOFS BETETHE»
(1) &i, b-ii, c-iii, d-iv (2) @aiii, b-iv, c-i, d-ii
(3) aiv, bHiii, c-ii, d-i (4) aiv, b, c-ii, d-ii
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129. Matchthefollowing.

List-l List-I1
a LordDahouse 1)  Loca Saf Government
b)  William Bentinck i) Pindaris
c) LordHastings i)  Thugs
d) LordRippon Iv)  Annexation of Oudh
& 808 T8 =BVSok.
er-| -l
a &g ESER ) I BchoFes
b)) 28050 BoiE i) oz
C) g rQofl i) ghen
d g 8 V) T& oS

The correct answer is:
BOGS HIPEESN

(1) aiv, b-ii, c-iii, d-i (2) @aiv, b-iii, c-ii, d-i
(3) &i, bHiii, c-iv, d-ii (4) &ii, b-i, ciii, d-iv
130. Therevolutionary organization ‘ IndiaHouse' established in London was handed over in
1907 to
(1) Mahadev GovindaRanade (2) Gopa KrishnaGokhale
(3) BadaGangadhar Tilak (4) Vinayak Damodar Savarkar
oodads® @(_;fboﬁeoé’ssé DY éo“%)) ‘R0&05> T8 1907e5° 2568 @NN0TE?
(1) L0585 08 o°ldd (2) Forod) '»d
(3) erolomrds 8of (4) JoDE TRrEE FSE),E
131. The Sabarmati Ashram was established by Gandhiji during the period.
(1) A.D. 1906-1907 (2) A.D.1913-1914
(3) A.D.1915-1916 (4) A.D.1917-1918
moQe Ja8d GEol FHoAI sTosn.
(1) &.%. 1906-1907 (2) &.%. 1913-1914
(3) &.%. 1915-1916 (4) &.%. 1917-1918

132. Inwhich year Vasco daGamafirst reached to Calicut?
(1) A.D.1498 (2) A.D.1492 (3) A.D.1598 (4) A.D.1491

Q JodHBos® TR EMET J0EEFOMT 5OEE Worio?
(1) &% 1498  (2) &% 1492  (3) &% 1598  (4) &4 1491
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133. TheHunter Committee was appointed
(1) To control extremists activity
(2) Tonegotiate with moderates
(3) Toreport onsalt satyagraha
(4) Toenquireintothe JallianwalaBagh Massacre

GP0e5 B B BBE Qo000 0858?
(1) wdrche $igoln ©d8LE A8

(2) o8 Jopdodhodo

(3) &y dergirom IRBE T

(4) 2000 Freorerh 8080w TG’

134. Whichtext among thefollowing isconsidered as Buddha sbiography.

(1) VinayaPitaka (2) SuttaPitaka
(3) AbhidhammaPitaka (4) Buddhacharita
Bod FAS” Q [Hogo 20 R, LIS WG erdodwE0s?
(1) D88 Deod (2) 208 Heo¥
(3) @8ty we¥ (4) e0guses
135. Who described 1857 Revolt asthe First war of Indian Independence?
(1) GaneshSavarkar (2) Vinayak Damodar Savarkar
(3) BdaGangadhar Tilak (4) Vdlabhbai Patel
1857 8&ierinds s grdd didogy dorrdoom $SQoNSE 258?
(1) d82 58,6 (2) dToE TRIFSE FE),E
(3) ero Komrgs &of (4) Sederdd HBS
136. Which wasthefirst Mookee Moviein Telugu?
(1) RagaHarischandra (2) BhishmaPratigna
(3) Madapilla (4) RatuBidda
BeKeS® 0 s Do 8?
(1) o Fofo (2) &%y ©&y
(3) Srode (4) 8 O

137. Inwhichyear the Muslim L eague passed aresol ution demanding Pakistan?
(1) A.D.1937 (2) A.D.1936 (3) A.D.1940 (4) A.D.1942

D DoIFBoes® Sno OF FELS &dros Vi &T7RY0N0B.
(1) &% 1937 (2) &.%. 1936 (3) &% 1940 (4) &% 1942
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Whichwasthefirst Newspaper in India?
(1) Bengd News (2) TheHindu (3) AmritBazar (4) Benga Gazzette

T ESBI0S’ INEE TTHBE A8?
(1) Bord S&rgd (2) & ol (3) ©s wers  (4) Bord R2E

139.

In which of the following Congress session Non-Cooperation resolution is passed

(1) Nagpur (2) Cadcutta (3) Vijayawada (4 Amritsar
Bod TS J oD HSrBFos’ HHeH JTELe oyso BaHadod.

(1) &858 (2) Soio (3) Ducdhad (4) 855888

140.

Who among the following wasthefounder of Indian National Congress?
(1) BaaGangadhar Tilak (2) WilliamWedderburn

(3) BruceT. McCully (4) AllanOctavianHume
Bod TBS’ erdd &I TORD FHODETVIK?

(1) erolomrsd &of (2) JO0HSD Ib8

(3) (eo°0.83. 0B (4) vod OTICHS Tgd

141.

Match the following incidents with their respective dates.
List-1 List-l1

a  PrimeMinister of IndiaCommissioned INS-VIKRANTon i) 1%t July 2022

b) Banonidentified singleuseplasticitemsin India i) 2nd September 2022
came into force from

c) TheFirst National Start-up Day inIndiawascelebratedon iii) 213 July 2022

d) Smt. Droupadi Murmu elected asthe iv) 16™ January 2022

15" President of Indiaon
& 808 Jodrded 88 Hoo0hoNS BOOE BSRCHO&.

e - rHer-l|

8 i HErdso@ INS dErossh s 80D 86 i) led 2022

b) erdstios® KHgowwdd oAS chrE IS i) 20008 2022
$QPOD AE0 WS SYS 86

C) WEEBH0S” Inde “wrdo% ®oked Hogw i) 21 228 2022

BSH)S0” 2003 Bd
d) B8 FTH8 S8y rdd 155 oy H8m AYPFond B8 V) 16 2858 2022
The correct answer is:
BOFS BETETHE»
(1) &i, b-ii, c-iii, d-iv (2) aii, b, c-iv, d-ii
(3) &ii, b-iii, c-iv, d-i (4) alv, b, c-ii, d-iii

L 31.C


{DBF 120}
{DBF 121}
{DBF 122}
{DBF 176}

P-1 Booklet Code | C

142. Choosethe correct statementsregarding the awards of Swachh Survekshan - 2022.
a Indorewon the cleanest city title for the sixth consecutive year in more than 1 lakh
population category.
b)  Panchgani won the cleanest city title for the lessthan 1 lakh popul ation category.
c) Tirupati received the best city award in Safai Mitra Surakshacategory.
d) Rishikeshreceivedtheaward for the best Gangatowninmorethan 1 lakh population
category.
(1) (a),e(qb) Zlnd (c) only (2) (b), (c)and(d) only
(3) (@), (c)and(d)only (4) (@), (b)and(d)only
ST 635§£—2022 WTHos Howodod FVS FrEgSned oD BO0ok.
a) 1of 808 85 a0y EOAS BLABS® R0G°6 SEHIM 65 0 ©&508 HOHEIFS
Do BES Nenthdood.
b) 1 of 808 855 arer EOAS SLABS® HouKkd @8g08 HBDFRS Hyewo BES
Re0OR08.
C) Ddaron D@ 08T SLADS® BKHIE & BB VYO WLy NeRL0d.
d)  Llog 8B J8ns aarer §OAS SLADS® wdk Ko Hiwo wardd 88T RewtEiod.
(1) (@), (b) $o8050 (C) S EI> (2) (b), (c) $r80% (d) L&
(3) (@), (c) Ho8cs0 (d) S g3 (4) (@), (b) So00%0 (d) Sr&E3>
143. According to the MoU between the Ministry of Agriculture & Farmer’sWelfare Govt. of

India, and United Nation’s Devel opment Programme (UNDP) in May 2022, UNDP provides
technical support to the following.

a PM Kisan Samman Nidhi Yojana(PMKSNY)

b) Kisan Credit Card - Modified Interest Subvention Scheme (KCC - MISS)

c) PradhanMantri Fasal BimaYojana(PMFBY)

d) Pradhan Mantri Krishi SinchayeeYojana(PMKSY)

(1) (a)and(b)only (2) (b)and(c)only

(3) (c)and(d)only (4) (a)and(d)only

IS (He0E; Sgd;a & D Hogso $o0@8cp HoB0S0 pEgTrEg DS @@‘5.)%
s8g8So0 (UNDP)E® 3o 202265° $:608)808) e@dmira e.dyodo 5o UNDP & 8o&
I8 osAE JH5000 WodN0.

ad PM-83S dms 98 B (PMKSNY)

b) 8s B&S 5°§ - IrdPE OEY dT3IL > (KCC - MISS)

C) Pdsoo® K0S HI» Ired (PMFBY)

d HTrdSo® i dowon Sras (PMKSY)

(1) (8) o880 (b) S (2) (b) L0808 (C) S

(3) (C) S8 (d) S (4) (8) o880 (d) SoEo
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Namethe category in which the highest number of gold and highest number of silver medals
won by the Indiain the Common Wealth Games - 2022 respectively.

(1) Athleticsand Judo (2) Athleticsand Wrestling

(3) WrestlingandAthletics (4) Wrestling and Weight lifting

5508 3G AKY) - 2022 &° erE8B0 ©SgHE H18 KB VEHE S HETOK RLOEE)
Qe I

(1) ©BB§) 500050 & (2) ©@e§) 28050 BLoR

(3) BzoR Bo0csn @PEE (4) Boh %0800 BondS dPoR

145.

Thewinner of both the U.S. Open and French Open Women's Tennissinglestitles, in 2022
IS

(1) ElenaRybakina (2) IlgaSwiatek

(3) AgshleighBarty (4) Coco Guaff

20225° U.S. &8 00050 (@08 L9 Hordo BYD 2ohd) BES) B0&0E RODI
(1) 2B Berdar (2) amr B

(3) o (4) &8 69

146.

According to the Economic Survey 2021-22, India’s overall score on the NITI Aayog's
SDG Indialndex and Dashboard in 2020-21is

88 $3g 2021-22 $s~do, 2020-2185° I8 eB>rA SDG moddir 2088) S0005»
TIRTRS” rERIo BwE), Ivgo 6.
(1) 64 (2) 65 (3) 66 (4) 67

147.

The Reserve Bank of Indiapublished Financial Inclusion Index in August 2022. According
tothereport theraisein thevalue of Financial Inclusion Index from March 2021 to March
2022 is

(1) 53.9t059.3 (2) 56.41059.3
(3) 53.91t056.4 (4) 54.91t056.4

ey 20225° ard&aH 8228g ergof @88 SRS Brdd HELoN0B. & JIIBE s Ko
808 HAOE Jrd DS S8y 2021 Koo S8y 2022 550 DS

(1) 53.9 %08 59.3 (2) 56.4 508 59.3
(3) 53.9%08 56.4 (4) 54.9 %06 56.4
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148. Expandthe | PMDA whichwasinitiated in the Quad - L eader’s Summit - 2022, in Tokyoin
May 2022.
(1) Indo-Pecific Partnership for Medical and Drugs Awareness.
(2) Inclusive Participation in Maritime Domestic Arms.
(3) Indo-Pecific Partnership for Maritime Domain Awareness.
(4) International Participationin Maintaining Drug Awareness.

B 2022 &° 578 geS” w0AS 536 3por d5rIFo 2022 S° (@Sodosads IPMDAS
AJBowWok.

(1) R0E-H2DE FEIERS H5 PEES ©ob (BF WIEID.

(2) 208528 FPIVAS s 0B FRYPE ©by),

(3) RoE-HVPE FFIED H6 SrOBTH FPS WIS

(4) 2ROLTAIS FPIDVAS A® F0NSBoWAOA GA WIEIR.

149. Thefirst woman appointed asthe Director Genera of the Council of Scientific and Industrial

Research.

(1) JyotirmayeeDash (2) NeenaGupta

(3) ChandrimaSaha (4) Nalathamby Kaaiselvi

TYS 65 P0oBDE ®0& RoERINS 83G)% BEEE aSEEM JoHNEHBE J0EE Kotrd
(1) &g88 00 o (2) > Hoar

(3) Lo@d> s (4) Su8od E82Yg

150. Choosetheincorrect statementsregarding thefield of education and skill development in
Union Budget - 2022-23.
(1) Oneclass-OneTV channel programmeof PM eVIDYA will beexpanded from 12 to
100 TV channels.

(2) Startupswill be promoted to facilitate Drone Shakti for Drone-As-A-Service.

(3) Establishment Digital University to provide universal education.

(4) Launch of DESH-Stack e-portal : A Digital Ecosystem for skilling and livelihood.

So& 0@ 2022-235° DSy 508050 S BI0HF00E Formrd8 H020H0N HOFA TEgH0

Q0NE WS K00.

(1) PM eVIDYA 585850308 a8 S8188 - a8 8.9 sdgdo 12 8.9, o38) Sod
100 &.9. T3S JH0oTw&os.

(2) ES-AF-2-38¢0 §E8 &S 989 Dwdddo Bohdo §Ho FPdeds @érotdo.

(3) DHowaron D&y wobowdo §h0 GBLS AT A0 JTE.

(4) DESH-Stack e-portal: 9 &ees& 535 36 2,008 ©o& BSOGES FEoDotsido.

AT 30.C



{DBF 183}
{DBF 184}
{DBF 185}

P-1 Booklet Code | C

151. ‘Anubhuti’ - the QR code-based feedback system launched in February 2022 was aimed to
(1) Addressthe problems of the female artists of film industry in Mumbai.
(2) Analysetherequirements of the students of Class X in Mumbai.

(3) Ensure the safety and security of the people with maximum use of technology in
Delhi.

(4) Addressthe problems of female workersin Delhi.

@50, 2022 &° @rdodotadd QR §& w5rdd HEwrgs PR -“wlgrd” D)
G Q3G

(1) S000BS* 1A H/FHS' Hoire Sersrdhe ddodge Hoardo.

(2) S00BSR BE55 S818 rrgho wsdoros JFhotio.

(3) &9S° B wEBEom IARrAOD P S¥ 0N HESws L&' asko.
(4) &9S°Q Hobree Y B0 dodge HdTySo.

152. Choose the correct sentences from the following.

a  Ontheoccason of world Bio-fuel Day, Prime Minister Shri NarendraModi dedicated
the 2"d Generation (2G) Ethanol plant in Panipat, Haryanato the nation.

b) The2G Ethanol plant has been built by Oil and Natural Gas Corporation (ONGC) at
an estimated cost of over Rs. 1000 crores.

c) Theproject will havezeroliquid discharge.

(1) (@ and(b)only (2) (&) and(c)only
(3) (b)and(c)only (4) (&), (b)and(c)
Bod F8S® J3S Tr5rgody JowEod.

8 WdoW &S 0G5 BITG)Io Jodom, PFEH0@ B SooEIrs FrorgIS
FINHES® 25 d80 (26) ad>S Fol& 88 wodso BT .

b) 2G 285S FolSd 800 ©0& IS mgd °ENOAS (20.09.2.0) &, 1000 S
D& wowae :égoﬁooé‘s MSICTAIIAR

C) (PRES" o) BS &&d wotnod.
(1) (8) 08080 (b) S (2) (8) 508050 (C) SeEBd
(3) (b) Sodasn (€) S0 (4) (@), (b) So0050 (C)
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153. According to the Global Gender Gap Report 2022, the India srank is
s Bodb mgn A36E 2022 K580 R0ES> B, o°gos.

(1) 125 (2) 135 (3) 145 (4) 115
154. Match thefollowing Raman Magsaysay Award 2022 winnerswith their countries.

List-I List-11

a  Chhim Sotheara 1) Jgpan

b)  Hattori Tadashi i)  Indonesia

Cc) Madrid Bernadette. J. 1) Cambodia

d) BencheghibGary iv)  Philippines

& 808 TR DAVD wrd) 2022 IRFod 0 TS 28dSHok.
e -| -]

a 9% ¥do ) 28

b) &0 dara i) 208305

C) SrG& BHRG. = iii) sroes*@osor

d BorAs md V) SO0y

The correct answer IS
BOGS HIPEESN
(1) &liii, b-i, c-iv, d-ii (2) alv, b-iii, c-i, d-ii
(3) &iii, b-iv, c-ii, d-i (4) @i, b-i, ciii, d-iv

155. The Nobel Prize-2022 winnersin Chemistry are
(1) K.Barry Sharpless, Alain Aspect and Svante Paabo
(2) CarolynR. Bertozzi, Morten Meldal and K. Barry Sharpless
(3) Morten Medal, Anton Zeilinger and John. F. Clauser
(4) CarolyneR. Bertozzi, Svante Paabo and Anton Zeilinger

3RS’ Sad (2E-2022 Kearden

(1) K.erd &8RS, o8BS ©0)§ 008w FrgoB e’

(2) 88903 R. B8g=, 3rgS epd Hdoin K. erd 6B
(3) 3088 RvexS, wobdS 2doKE $d» e, F 57086
(4) 85°0S8 R. 82, o8B re” 08050 eobdd 2doiks
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Choose the incorrect statements regarding GSAT-24 satellite.

a)  ISRO successfully launched GSAT-24 satellite from Kourou in French Guianain June
2022.

b) Weight of GSAT-24is 3180 kg.
c) GSAT-24isa24-Kuband communication satellite.
d) Thesatdlitewassuccessfully placedinto geostationary orbit by theAriane- 1V rocket.

GSAT-24 65685508 0200800 985° argpgold JohE odk.

a) ISRO=~S 20225° (0w KSrars™ B8 &od GSAT-24 &5 55 ducdSodonr
RRrHoN0B.

b) GSAT-24 2088 3180 8Pen.

C) GSAT-24 936 24-Kuergos $Sorgdsan adiaro.

d D8cHS- IV o78Es oo SIS aﬁr?@ocﬁ 885" Jaaddodom eowrd.
(1) @& (D) (2) (b)& (o) (3) (©&(d (4) (b) & (d)

157.

158.

InAugust 2022 Modern equipment was supplied to IndianArmy. Nipunisoneof them. Itisa
(1) light weight helicopter (2) missilethat reaches exact target
(3) anti-personnel mine (4) thermal imager
88 35080 el 202265° 908008 8HI SIS FHRS” YD ErE wod. A &8
(1) B98rs rds°R6 (2) 2SS oFg) T 2RS
(3) oS08l HGHIS S (4) $8,S addud
Match the Military/Naval exerciseswith their participating countries.
List-1 List-11
a SAREX-2022 1) IndiaUSjoint military exercise
b) DharmaGuardian-2022 1) Indian coast guard exercise
c) Vauna2022 lii)  India-Japan Joint Military exercise
d VAJRA PRAHAR-2022 Iv) India-France Nava exercise
808 MoLY/TI ITgTOLH TS Bres 2EHSWos.
e -| -
a 0§ - 2022 1) 20&05r-US 808 Jootod dargdren
b) &8y mgas - 2022 i) 2080508 88 S8 d¥o dargren
C) S - 2022 ) R0&Sr-a>S &k Ddowd JTrgdo
d Ses @506 - 2022 V) R08BBr-P) TR IGO0

The correct answer IS
HOGS HIPEESN
(1) &ii, bAiii, c-iv, d-i (2) aliii, b-ii, c-iv, d-i
(3) &ii, bAiii, ¢-i, d-iv (4) @iii, b-i, c-ii, d-iv

AN 37.C


{DBF 191}
{DBF 192}
{DBF 193}

159.

P-1 Booklet Code | C

Choose the countries that joined the steering board of First Movers Coalition led by WEF
and US Government in May 2022.

(1) Japan, Swedenand Germany (2) India, Germany and Sweden

(3) Japan, Germany and India (4) India, Japanand Sweden

3 2022 &° WEF £08050 US Hehéto arafgeto $irod $F $orsG) §ondas &),
QOOA B KS® WOS Baen.

(1) @S, VGBS 500080 238 (2) =mo&osr, 28)d S80S0 GBS

(3) @rsS, 280 S0 R0daT (4) =08, BrS S0 B

160.

AsonAugust 13, 2022 Indiaadds 11 more wetlandsto thelist of Ramsar Sites. Choosethe
correct statement from the following regarding the number of new sites added from the
respective States.

(1) Tamil Nadu-2, Odisha-3, Jammu & Kashmir-4, MadhyaPradesh-1, Maharashtra-1
(2) Tamil Nadu-3, Odisha-4, Jammu & Kashmir-2, MadhyaPradesh-1, Maharashtra-1
(3) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-1, MadhyaPradesh-2, Maharashtra-1
(4) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-2, MadhyaPradesh-1, Maharashtra-1

estfdy 13, 20225 er88BFo 11 08 D86 Jvol oraodl RiTe 3de°S” BB)ob. eair
oo S008 FEM™ 0¥ B Joo Hopgdy $020060D BB DITFTE0 JoE BaHok.
(1) So8ado-2, -3, uidny & s85-4, Sogeds-1, Sodrog-1

(2) So¥mdo-3, wbir-4, uiny & THS-2, Soged-1, Sodrog-1

(3) Sodado-4, -3, usny & w51, Sogeds-2, Sodrog-1

() So8abo-4, -3, uiny & THS-2, Sogeds-1, Sodrog-1

161.

On 25t February 2022 The Secretary General of the United Nations appointed thefollowing
astheAssstant Secretary Genera to serve as United Nations Crisis Coordinator for Ukraine.
(1) Michelle Bachelet

(2) AminAwad

(3) Frederic Leclerc - Imhoff

(4) Wairimu Nderitu

P50 25, 20225 0Egorag S8 DELD 3IES & Bod O BEoNIK TRy DS
do§%e SISRINI(ON S Yo Ty DAWSS0EE OV QO P8 2IEST Qoo .

(1) BS r38E

(2) oS ©3&

(3) 0§ BEBE)-10TD

(4) 050 J8&
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162. The theme for World Maritime Day-2022 is
(1) Empowering women inthe maritime community
(2) Sustainable shipping for asustainable planet
(3) Sedfarers: At the coreof shipping'sfuture
(4) New technologiesfor greener shipping
2022 58§ $r0B @ RwE), w85)Fo
(1) Q0H500f PSS a8 & TrOB EXorgES
(2) ¥Pode0S ADYA HE J dPonsS FIW
(B) by & & 86 & WdYof) Jrgss
(4) Sy BseRd H6 HIE adYoh

163. “Progresstowards an equitable world” isthe goal of the following summit held in 2022.

(1) G20 Summit (2) G7Summit
(3) BRICSSummit (4) 12U2 Summit
R8I S ©Howo I HEKS” 202265° 2OAS & 8od 3T S5rRE ©Fgo.
(1) G20 % (2) G7 e
(3) ©F v (4) 12U2 589
164. Match the following persons with their respective positions/designations as on October
2022.
List-I List-11
a IMF - Executive Director 1)  Sanjay Kishan Kaul
b) DRDOCharman 1) Krishnamurty Subrahmanyan
c) Supreme Court legal services 1) Sameer V. Kamath

committee chairman
d) Scientific Advisor to Minister of Defence iv) G Satish Reddy
& 8o Sgoln 2022 v§wd 388 78 TIros/Fros #didhod.

her-| -l
A 00505 - 08585 FOE6 i) dowc® 84S TS
) B.s58.5 365 i) &g g SoeimsS
C) @osE argasy Hbgdoe i) J6 . 5%&
88 wEg8Ed
d) S 00 TROH deoHTEH V) & 98% TG

The correct answer is:
BOFS BETETHE»
(1) &l bAiii, c-ii, d-iv (2) @ii, b-iii, c-iv, d-i
(3) &iii, b-ii, ¢-i, d-iv (4) alii, bAii, c-i, d-iv
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165. Match thefollowing bookswith the authors.
List-1 (Books) List-11 (Authors)
a) InFreeFal: My Experimentswith Living i) Bimal Jdan
b) IndiasEconomy from Nehruto Modi : i) MadlikaSarabhai
A Brief History
c) From Dependenceto Self Reliance 1) Sahil Seth
d) A Confused Mind Story iv)  PulapreBaakrishnan
8o 2sc06d YYFoH Sondes” 2EBHb.
-l (DHdseen) @ -l (SSongen)
a ad @ >SS D 500y IS OJoA 1) DS merd
D) 208550 573 B0 PV 0 Ird i)  $08s Foerad
N IEAS) 37"@8
C) &0 &oaER) o DS Bodkhy) i) S &
d) 2 ESomgE ok b V) Jol wroBlye
The correct answer is:
BOFIS BETETHE»
(1) &ii, b-iv, c-i, d-ii (2) &ii, bAiii, c-i, d-iv
(3) @&iii, b-ii, c-i, d-iv (4) &i,b-iv, c-ii, d-ii
166. Which of the following longitudeis called asinternational date line?
(1) 150°E (2) 160°W (3) 180° 4 o0°
& 1808 2 Bgrodini wodTdcl BXdpm HeoRrd?
(1) 150° & (2) 160° % (3) 180° (4) O0°
167. Which State of India occupiesfirst position in Jowar production?
(1) AndhraPradesh (2) Maharashtra
(3) Tedangana (4) Karnaaka
PESVI0S® J THo FH)dodr GSBS® e PO BEDODIH?
(1) o das (2) HoHog

(3) Bworre (4) goys
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168. Matchthefollowing.

List-l List-I1
a Yaada i) Bapatla
b)  Manginapudi i) Nellore
c) Surydanka 1) Visakhapatnam
d Mypadu Iv)  Krishna
& 808 T8 =BVSok.

-l -l
a oSrord 1) erdd
b) L00ASdrd i) e
C) drdgeod i) dapdino
d Sordd V) &

The correct answer is:
BOFIS BETETHE»

(1) &i, b-ii, ciii, d-iv (2) @&iv, b-ii, c-ii, d-i
(3) &ii, b-i, c-iv, d-iii (4) @&iii, b-iv, c-i, d-ii
169. Which of thefollowing Rock isnot algneous Rock?
(1) Granite (2) Basdt (3) Quartzite (4) Pegmatite
& 800 TBS® A& Wi 3L’ HowoHOAIL 5°E?
(1) 3 (2) =arep (3) s%ges (4) 2iSrBES
170. Which of thefollowing isnot atributary of theriver Bramhaputra?
(1) Teesta (2) Manas (3) Luni (4) Dihong
& 808 T8S’ A PTRVE T GHSE °E?
(1) & (2) S5 (3) o (4) &%oh

171. Average monthly values of maximum temperature, minimum temperature and rainfall for a
place can be represented by
(1) Climograph (2) Thematicmap (3) Climatemap (4) Histogram
w8 (@Fodo Ry wIgHE NS wdgoy GRS 08080 IS0 KREBHoW FEdo

(D) 33X (2) [dgg Do (3) 38°4pd do (4) e
172. Theshapeof the Earth’sorbitis

(1) Acircular path (2) Aneongated oval path

(3) Ascdedoval path (4) A definitepath

25y§§§ FreY @ée\)e‘ié

(1) S 885 (2) &8 Syzss &g

(3) FoBo DY &) fHEs°S 855 (4) PNSS EEg
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173. Themoist deciduousforests|ocated in North Eastern AndhraPradesh grow inthefollowing
rangeof rainfall.

(1) 100-200 cm (2) <75cm

(3) >250cm (4) 50-75cm

ST BOPHBES” H) BP whorey) vEHes §od BODS J SEFE HOHS® D bE .
(1) 100-200 o0.o. (2) < 75%0.2.

(3) > 250 0.. (4) 50-75 o0..

174. Choose the incorrect statement.
(1) Indiaisthelargest producer of raw jute and jute goodsin the world.
(2) Indiastandsfirstintheworldinsugar production.
(3) Indiastandsfirstintheworldinjaggery production.
(4) Indiastandsninthintheworldin crude steel production.
8o FEeS® 385 T8y gosod.
(1) 23058, a8dard S0 &$HBS® HHoWoS® risBTIs IEE Fdo.
(2) ©H0BoS® BoITE SEBS FEEBFIG IS FSo. |
(3) BPHoHod® Beo &HBS* ESBETIB T0sS Fso.
(4) BHosos® Swb &8y wSBS® TESBTIB FAES o,

175. The Periyar Tiger Reserveislocated in

(1) Tamil Nadu (2) Karnataka (3) Goa (4) Kerda
DORFE Yoo HodEe oo &) [@rogo
(1) g (2) Sgpws 3) /o> (4) s8¢

176. Clause 2 of Article 13 in Indian Constitution is not applicableto
(1) Law madeby theParliament
(2) Ordinanceissued by the President of India
(3) Constitutional amendment made under Article 368
(4) A decisiontaken by Union Cabinet
88 TergoRfSNGt 135 HESSnS” o 25 sTer B8 HJoueh.
(1) >EIootn ErdroboS Bk
(2) o5 o730 8 V1S I
(3) 3685 D880 @bd0d Ererodotiads Trergor d580
(4) S0 5°gHVE S8 dgaoo
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Which of the following is not correct with regard to Fundamental Duties in the Indian
Congtitution?

(1) Fundamental Dutiesare applicable only to citizensof India

(2) Fundamental Dutiescannot be enforced by writs.

(3) TenFundamenta Dutiesareincorporated by 42" Contitutional Amendment Act.
(4) Eleventh Fundamental Duty was added by 87" Contitutional Amendment Act.
o8 U"wgoﬁoé‘s B0 (@PEAE I8 Ho080N DO5°IH?

(1) o0 ddren 88 FHod SrED $8IPow.

(2) 08 o (PEE Do woewn HSEBH®.

(3) 425 orergord D8 DB @FENE oo FoHINIG.

(4) 875 orergorf $58m HEFoES (FEE B FPoHNIIE.

178.

Which of thefollowing is not correct with regard to Vice President of India?
(1) Hedrawshissalary asChair Person of Rajya Sabha.

(2) Hissaaryispaidfrom Public Account of India

(3) Histenureisfiveyears.

(4) Heiselected by Members of Parliament.

plel &bm@é@é D000H0N JO5°AR?

(1) oragds ofgihd Fors® 08d8 8850 0dob.
(2) @8 288850 88 HHE w80t Hod BOF.
() @& H&Iswo 5 Hodoren.

(4) o8 Fgotn dhge VS IQEHS .

179.

The Directive Principlein Article 43B relating to co-operative societies was incorporated
by this Constitutional Amendment Act

(1) 91% Constitutional AmendmentAct  (2) 93" Constitutional Amendment Act
(3) 95" Congtitutional AmendmentAct  (4) 97" Constitutional Amendment Act
43B 8820506 Ko 5578 H0dredd $0208008 $BF Jdor@hnd FohdddS orargol

D58e0 ¢80
(1) 915 orergon Da58en 53550 (2) 93 orergon DS8ed 8¢
(3) 95 orergon DS8ed 8¢ (4) 975 orergon D58ed 8¢5

180.

Which of the following is not correct?

(1) RayaSabhaprovidesrepresentation to States.

(2) Deputy Chair Person of Rajya Sabhais elected by the members of Rajya Sabha.
(3) Thereisno reservation of seatsfor Scheduled Castesin Rgjya Sabha.

(4) Thenormal life of RajyaSabhaissix years.

808 T°S° $05°AR?

(1) oresgdes or o (8AEg0 EON0908.

(2) oregdy gt BEIGSS oragdy Sabgen 80E0r.

(B) oTragdges® drgd Soore T708 Vi dedly BoedS.

(4) oragdd Forde b5 e dod)oren.
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181. Fromthefollowingidentify the State which has higher representation in Rajya Sabha
(1) Gujarat (2) Karnataka (3) Odisha (4) AndhraPradesh
Bod FIS” ToagdES” 8D FEITGR) FONYN) T ZHnss Kogohdn.
(1) K=os (2) 8eos (3) adar (4) o dHaT

182. Lord Rippon’sfamous resolution on Loca Self Government was passed on
(1) 18" May, 1882 (2) 21% May, 1882
(3) 11" May, 1882 (4) 9" May, 1882
TG 0Tl Bahegep org 8O B R0y STt WRrHowRdS B
(1) 18 3, 1882 (2) 21 3, 1882
(3) 11 3, 1882 (4) 93, 1882

183. Panchayatsat the Intermediate Level may not be constituted in a State having apopulation
not exceeding
(1) 20lakhs (2) 30lakhs (3) 40lakhs (4) 25lakhs
Bods EYH) 2y HBBI oW TRINS® HoEgy FonS® Dowrondud Aoy
BoII080 B
(1) 20 ogen (2) 30 ogen (3) 40 ogen (4) 25 ogen

184. The word ‘Cabinet’ is incorporated in the Indian Constitution by this Constitutional
Amendment Act
(1) 42" Constitutional AmendmentAct  (2) 24" Constitutional Amendment Act
(3) 44" Constitutional AmendmentAct  (4) 45" Constitutional Amendment Act
88 Trergorfoes® ‘95&35’ @) DSB8 FoDENS Trergor DSGe B0
(1) 425 orergorl S58e0 w6y (2) 245 orergorl $58e0 ey
(3) 445 orergorl S58e0 ey (4) 455 orergorl d58e0 Wb

185. The Judges of International Court of Justice are appointed by

(1) Secretary General of UNO

(2) Security Council

(3) Genera Assembly

(4) General Assembly and Security Council

©OSTBDH TIHDTELNTE TIHBTROR D6 ISHNTE.
(1) o8goreg 508 BFS 528550y

(2) HEs H008d

(3) D&y 8IS B

(4) DEgdesg DAIB Def HodB» e $ooKkd
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A representative el ected by the people can be removed by adopting this method in Direct
Democracy.

(1) Referendum (2) Recdl

(3) Plebiscite (4) Initigtive

Bod PEgE Perarglog HES oo e BE Y HEIG FToA0WSE).
(1) Gerdrcsd w8l (2) HSoroodb0

(3) RaP& (4) HerdBSS

187.

NOTA (None of the above) option in Electronic Voting Machines was introduced for the
first timein the elections to State L egidative Assemblies held in the year.

QOFAE LBoA BASS”T ‘T (P I 5760) ol oYPED J0LBodE o §od
$03)B0S® 28AS TR IS B¥o NS HBTR.
(1) 2012 (2) 2010 (3) 2013 (4) 2015

188.

Open Ballot System is adopted in this election of our country.

(1) Electionof Membersto Rajya Sabha

(2) Election of Membersto State L egidative Assembly

(3) Election of Membersto Nagara Panchayat

(4) Open Ballot System isnot adopted in any election of our country
$8BF0S” 80d IQES® irdor LBoA ITSin wiwoDOBHE k.
(1) oragdase dabgeo Q)8

(2) oo QTS D8 dghgo AN

(3) SH8 SomranSEr dehgeo Q)

(4) H5BFoS® ) ANES S wirdor LR TS0 wIwoHoE wEDK

189.

“Elephant” isthe election symbol of this political party in Assam.

(1) Asom GanaParishad (2) Bodo Land People’sFront
(3) AllIndiaUnited DemocraticFront  (4) JanataDal (United)
WIS’ Bod Traad Ff Ao K8y WK

(1) @0 Ko HBAS (2) &6 orgold 2HS) Wols
(3) o« R0&A5r FBNIBE BrEWE oS (4) =de K& (BNIBE)

190.

Thefollowing languageisnot found in the 8" Schedule of Indian Constitution

(1) Sindhi (2) Urdu (3) Dogri (4) Gondi
o8 es U"wgoﬁo@s&) 8% ?acérgooé‘ ©KND0WI 2N
(1) 208 (2) &dx 3) &» (4) &od
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What arethe basic indicesfor measuring quality of life of peoplein developing countries?
(1) Rea income, Health and Educational attainments

(2) Real income, Health and under weight of children below 5 years

(3) Hedlth, Education, Infant mortality rate

(4) Income, Health and Educational attainments

@@:éag Vool [T, Puo 39 reages (quality of life) Sendheose GHRFPAO
2orDen AD?

(1) &85 sorodo, e8'tgo, Jargds

(2) &R8S smrado, wkgo, S59 0 EDAES) 5 BosresTy Dy

(3) &g, &g, 3% Hodegre Tew

(4) eorodo, s8hgo, durgds

192.

Based on which of thefollowing, Indian Economy issaid to be adualistic economy?
(1) Existence of large scale income and wealth inequalities

(2) Recording higher rate of population growth

(3) Existence of modern and traditional economy

(4) Inéefficient utilization of natural resources

Bob TES® B BITEHE 68 B0E SgSH Ggos BOE SgHHT BixyHisy?
(1) g RS sprod, D0dd Sgargaren §Qasnocot

(2) ©88 a3 59%‘6&33 SRS Wodnd

(3) @8, FoRdmrad dgdHenr EdAGINOEL

(4) @58 S3HosH wdSgor GdHITrAow

193.

In respect of which of the following, Indiaemerged asthe largest producer and consumer
intheworld?

(1) Meat (2) Pulses (3) Egos (4) Tea

808 T8S° BI8 D000, rdElio WHowoS® W8 Y B IAR>rK Bfom
WI$B0N0H?

(1) Ssrodo (2) 5%y 6w (3) Kk (4) Bosrdo

194.

Theobjective of PradhanaMantri Grama Sadak Yojana(PMGSY) is

(1) Integrated development of scheduled caste dominated villagesin the country
(2) Unconnected habitationsin rural areas are to be connected

(3) Toprovideold age pension and maternity benefits

(4) Toissue property ownership cardsto property ownersinrura areas
PEdso® o dEE Brad (PMGSY) &ddgo dsm

(1) RrgS Heorozd oo JLVoB ([rErod HNEHSTHHY S8

(2) (o Fodros® ©8d05°80 57 STl ©hdorrdo Basnd

(3) BYTHG P00 WoHoWE 00N rdodedsy HFFao wohote

(4) (e @Foeros'd u chadrdod oy dradrdy shod 6 Dot
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195. Inwhichyear the new industrial policy announced the abolisation of industrial licensing in
India?
TESTFOS” @) DoIHBOS® HELBONS FOFT S TR ©HHV0D FOFAE TR
Ao 86y WBobakobd?
(1) 1948 (2) 1951 (3) 1956 (4) 1991
196. Which of thefollowing activity isnot a part of service sector?
(1) Fishfarming (2) Warehousing of fish
(3) Trangportation of fish (4) Sdeof fish
8od TES® wIrEoK0S® o TPARE?
(1) Bdeo oddo (2) Bhen Jeg Bokdo
(3) Bdo Sareoe (4) Bdo wsy¥o
197. AccordingtoJ.M. Keynes, what isthe main cause of unemployment in developed countries?
(1) HighPopulation (2) Introduced Automation
(3) Low effectivedemand (4) Low quality of Education
WY BodS BTOS” INEETIE P s*evomr IM. 8Q) B &Y IK0?
(1) o8 = (2) Sro@8seady WIFwLUo
(3) gE Baoroddy S80S (4) dorg TreagdeSt S°Ho
198. Asper 2011 censuswhich oneof thefollowing districtsin Andhra Pradesh (after bifurcation
2014) has the highest sex ratio?
(1) Vijayanagaram (2) Srikakulam (3) Krishna (4) Visakhapatnam
2011 sorer B8 0 $5D00D oPRHETS® (DFed woddo 2014) O RersS® QPR
AQE vEgod IEY I wod?
(1) DescHdKso (2) 3s&¥o (3) & (4) depdio
199. Who established the EX-IM Bank?
(1) TheGovernment of India (2) TheReserveBank of India
(3) TheWorldBank (4) ThelMF
A§)0 (EX-IM) ergosodo 9858 Fnowrdo?
(1) =88 ©ehdgo ‘ (2) du6g ergody &9 Qokasr
(3) Dol ergodd (4) IMF
200. TRIMs and TRIPs agreements are related to which of the following International

Organisation?
@353(\) (TRIMS) $0803%0 (SN (TRIPY) 003 € (§od Q&S ) @oécge‘féoﬁo éo{g&
$50200800I euo“ao)oﬁ"@o?

(1) WTO. (2) 1.BRD. (3) IL.O. (4) IMF
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